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NEW QUESTION 1
- (Exam Topic 1)
A developer gets an error saying 'Maximum Trigger Depth Exceeded.' What is a possible reason to get this error message?

A. The SOQL governor limits are being hit.

B. A Process Builder is running that sends mass emails.

C. Trigger is recursively invoked more than 16 times.

D. There are numerous DML operations in the trigger logic.

Answer: C

NEW QUESTION 2

- (Exam Topic 1)

An integration user makes a successful login() call via the SOAP API.

What can be used in the SOAP header to provide server authorization for subsequent API requests?

A. Named Credentials
B. Session ID

C. OAuth access token
D. Security token

Answer: B

NEW QUESTION 3

- (Exam Topic 1)

A developer is inserting, updating, and deleting multiple lists of records in a Single transaction and wants to ensure that any error prevents all execution.
How should the developer implement error exception handling in their code to handle this?

A. Use Database methods to obtain lists of Database.SaveResults.

B. Use Database.setSavepoint() and Database.roliBack() with a Try/Catch statement.
C. Use a Try/Catch and use sObject.addError() on any failures.

D. Use a Try/Catch statement and handle DML cleanup in the catch statement.

Answer: B

NEW QUESTION 4

- (Exam Topic 1)

A company represents their customers as Accounts that have an External ID field called

Customer_Number____ c¢. They have a custom Order (Order____ c) object, with a Lookup to Account, to represent Orders that are placed in their external order
management system (OMS). When an order is fulfilled in the OMS, a REST call to Salesforce should be made that creates an Order record in Salesforce and
retates it to the proper Account. What is the optimal way to implement this?

A. Perform a REST GET on the Account and a REST POST to update the Order_____ ¢ with the Account's record ID.
B. Perform a REST PATCH to upsert the Order___ ¢ and specify the Account's Customer_Number____ cinit.

C. Perform a REST GET on the Account and a REST PATCH to upsert the Order___ ¢ with the Accounts record ID.
D. Perform a REST POST to update the Order ¢ and specify the Account's Customer_Number____ ciniit.

Answer: B

NEW QUESTION 5
- (Exam Topic 1)
A developer is writing unit tests for the following method:

public static Boolean 1sFreezing(String celsiusTemp){ 1f(String.1sNotBlank
VLlSLJ?-%'“] && celsiusTemp.1sNumeric()){ return Decimal.valueof (celsiusTemp)
<= 0; |} return null; }

Which assertion would be used in a negative test case?

A. System.assertEquals(true, isFreezing(null))
B. System.assertEquals (true, isFreezing('O")
C. System.assertEquals(null, isFreezing(‘asdf))
D. System.assertEquals(true, isFreezingCIOQ0")

Answer: C

NEW QUESTION 6

- (Exam Topic 1)

An Apex trigger creates an Order c record every time an Opportunity is won by a Sales Rep. Recently the trigger is creating two orders. What is the optimal

method for a developer to troubleshoot this?

A. Run the Apex Test Classes for the Apex trigger to ensure the code still has sufficient code coverage.
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B. Turn off all Workflow Rules, then turn them on one at time to see which one causes the error.
C. add system.debug() statements to the code and use the Developer Console logs to trace the code.
D. Set up debug logging for every Sales Rep, then monitor the logs for errors and exceptions.

Answer: C

NEW QUESTION 7
- (Exam Topic 1)
The REST API .

A. Is based on REST principles and is optimized for loading or deleting large sets of dat

B. You can use it to query, queryAll, insert, update, upsert, or delete many records asynchronously by submitting batches

C. Provides a powerful, convenient, and simple REST-based web services interface for interacting with Salesforc

D. Its advantages include ease of integration and development, and it's an excellent choice of technology for use with mobile applications and web projects

E. Is used to create, retrieve, update or delete records, such as accounts, leads, and custom objects, and allows you to maintain passwords, perform searches,
and much more

F. Is used to retrieve, deploy, create, update, or delete customizations for your or

G. The most common use is to migrate changes from a sandbox or testing org to your production environment

Answer: B

NEW QUESTION 8

- (Exam Topic 1)

UC Loans is a small company with a part time Salesforce administrator. UC Loans wants to create a Loan c record whenever an Opportunity is won. What is the
optimal solution for UC Loans to accomplish this?

A. Quick Action

B. Apex Trigger

C. Process Builder
D. Workflow Rule

Answer: C

NEW QUESTION 9

- (Exam Topic 1)

A company has a web page that needs to get Account record information, given its Salesforce record ID, from JavaScript on the page and then display it. Which
method of integration is optimal?

A. SOAP API
B. Apex REST Web Service
C. Apex SOAP Web Service
D. REST API

Answer: B

NEW QUESTION 10

- (Exam Topic 1)

An org has a requirement that addresses on Contacts and Accounts should be normalized to a company standard by Apex code any time that they are saved.
What is the optimal way to implement this?

A. Apex trigger on Account that calls the Contact trigger to normalize the address

B. Apex trigger on Contact that calls the Account trigger to normalize the address

C. Apex trigger on Account that and Account that normalized the address

D. Apex trigger on Account and Account that call a helper class to normalize the address

Answer: D

NEW QUESTION 10

- (Exam Topic 1)

An Apex Trigger creates a Contract record every time an Opportunity record is marked as Closed and Won. This trigger is working great, except (due to a recent
acquisition) historical Opportunity records need to be loaded into the Salesforce instance. When a test batch of records are loaded, the Apex Trigger creates
Contract records. A developer is tasked with preventing Contract records from being created when mass loading the Opportunities, but the daily users still need to
have the Contract records created. What is the most extendable way to update the Apex Trigger to accomplish this?

A. Use a Hierarchy Custom Setting to disable the Trigger for the user who does the data loading.

B. Add a Validation Rule to the Contract to prevent Contract creation by the user who does the data loading.
C. Use a List Custom Setting to disable the Trigger for the user who does the data loading.

D. add the Profile Id of the user who does the data loading to the Trigger so the Trigger won't fire for this user.

Answer: A
NEW QUESTION 13
- (Exam Topic 1)

During the order of execution of a Visualforce page GET request, what happens after this step? Evaluate constructors on controllers and extensions

A. Evaluate constructors and expressions on custom components
B. Create view state if <apex: form> exists
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C. Send the HTML response to the browser
D. Evaluate expressions, action attributes, and method calls

Answer: A

NEW QUESTION 16
- (Exam Topic 1)

A developer must perform a complex SOQL query that joins two objects in a Lightning component. how can the Lightning component execute the query?

A. Use the SaJesforce Streaming API to perform the SOQL query.

B. Create a Process Builder to execute the query and invoke from the Lightning component.

C. Invoke an Apex dass with the method annotated as ©AiraEnabled to perform the query.

D. Write the query in a custom Lightning web component wrapper and invoke from the Lightning component.

Answer: D

NEW QUESTION 21
- (Exam Topic 1)

A Lightning Component has a section that displays some information about an Account and it works well on the desktop, but users have to scroll horizontally to

see the Description field output on their mobile devices and tablets.

Which option has the changes to make the component responsive for mobile and tablet devices?

A)

B)

C)

D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 24
- (Exam Topic 1)
How long is field history retained?

A. 18 Months
B. 12 Months
C. 24 Months
D. 6 Months
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E. 36 Months

Answer: A

NEW QUESTION 25
- (Exam Topic 1)
What are three benefits of using static resources in Visualforce and Lightning Components? Choose 3 answers

A. Static resource files can be packaged into a collection of related files in a zip or jar archive.

B. Static resource files do not count against an organization's quota of data storage.

C. Static resource files are automatically minified.

D. Relative paths can be used in files in static resource archives to refer to other content within the archive.
E. Static resource files can be referenced by using the $Resource global variable instead of hardcoded IDs.

Answer: ADE

NEW QUESTION 29
- (Exam Topic 1)
Invokable methods accept sObjects as parameters.

A. True
B. False

Answer: B

NEW QUESTION 31

- (Exam Topic 1)

Recently a Salesforce org's integration failed because it exceeded the number of allowed API calls in a

24- hour period. The integration handles a near real-time, complex insertion of data into Salesforce. The flow of data is as follows: The integration looks up Contact
records with a given email address and, if found, the integration adds a Task to the first matching Contact it finds. If a match is not found, the integration looks up
Lead records with a given email address and, if found, the integration adds a Task to the first matching Lead it

finds. If a match is not found, the integration will create a Lead and a Task for that newly created Lead. What is one way in which the integration can stay near real-
time, but not exceed the number of allowed API calls in a 24-hour period?

A. Use the REST API as well as the SOAP API to effectively double the API calls allowed in a 24-hour period.

B. write a custom Apex web service that, given an email address, does all of the logic the integration code was doing.

C. Create several Apex InboundEmailHandlers to accept calls from the third-party system, thus bypassing the API limits.
D. Create an Inbound Message that, using Flow, can do all of the logic the integration code was doing.

Answer: C

NEW QUESTION 35
- (Exam Topic 1)
What is the correct syntax for calling a controller action from a Visualforce page and updating part of the page once the action is completed? (Choose two.)

A. <apex : commandFunction action=?I { ! Save} " value="Save" rendered""thePageBlock"/>
B. <apex: actionFunction action="{ ! Save} " name=!,Save" rerender=l,thePageBlockl'/>

C. <apex:commandButton action="{ISave}" value="Save" redraw="thePageBlock"/>

D. <apex: actionSupport action="{ ISave} " event=llonchangel' rerender="thePageBlock"/>

Answer: BD

NEW QUESTION 37

- (Exam Topic 1)

A Lightning Component functions in preview mode and needs to be used inside a Lightning App Builder page, but it is not available. What change should be
applied to the component?

A. Refresh the sandbox and upgrade it to the latest API version.

B. Delete the component, metadata, and Apex controller and recreate them.
C. Expose it in the markup using the implements and access attributes.

D. Look for errors in the logic in the JavaScript controller.

Answer: C

NEW QUESTION 39

- (Exam Topic 1)

A developer needs to create a service that will process an email sent to it and create an account and contact using the contents of the email as data for the
records.

How might a developer accomplish this requirement?

A. Use the Apex Inbound Email Handler

B. Use the Fuel API with Email Data Extensions
C. Use Heroku Data Clips to Process Email

D. Use Auto-launched Flow and Process Builder

Answer: A
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NEW QUESTION 40

- (Exam Topic 1)

A developer has built a multi-page wizard using a single Custom Controller to query and update data. Users are complaining that the pages are loading slowly.
What will improve performance? (Choose three.)

A. Reducing the view state

B. Using actionRegion and rerender

C. Turning off the standard stylesheet

D. Setting the Apex Page attribute cache=true
E. Using selective queries

Answer: ADE

NEW QUESTION 44

- (Exam Topic 1)

A developer has generated Apex code from a WSDL for an external web service. The web service requires Basic authentication.
What code should the developer use to authenticate?

A. Http.setHeader (‘Authorization’ , '‘Basic QthZGprjpchVulHNchFtZQ!)

B. stub.inputHttpHeaders_x.put(‘Authorization' , ‘Basic QthZGprJpchVulHNchFtZQ")
C. Http.setAuthentication('Basic QthZGprjpchVulHNchFtZQ")

D. stub.authentication.put (‘Authorization’,'Basic QthZGprjpchVulHNchFtZQ")

Answer: B

NEW QUESTION 45

- (Exam Topic 1)

A developer needs to create a Lightning page for entering Order Information. An error message should be displayed if the zip code entered as part of the Order's
shipping address is not numeric.

What is a recommended way for the error message be displayed to the end user?

A. Use the apex:message tag to display errors

B. Use the aura:component tag to display errors

C. Use the uhoutputText tag to display errors

D. Use the uhinputDefaultError tag to display errors

Answer: D

NEW QUESTION 48

- (Exam Topic 1)

A developer built a Component to be used at the front desk for guests to self-register upon arrival at a kiosk. The developer is how asked to create a Component
for the Utility Tray to alert Users whenever a guest has arrived at the front desk. What should be used?

A. Changelog

B. Component Event
C. Application Event
D. DML Operation

Answer: C

NEW QUESTION 52
- (Exam Topic 1)
Which of the following about Dynamic Apex is incorrect?

A. You can retrieve the sObject type from an Id by calling .getSObjectTypeQ
B. getDescribe() can get you a variety of info on a particular object/field

C. Schema.getGlobalDescribeQ gives you a map of all sObject

D. In dynamic SOQL, you can use bind variables and bind variable fields

Answer: D

Explanation:

While you can use simple bind variables in dynamic SOQL, you cann|ot use bind variable fields
:myVariable.field1_c)

Use escapeSingleQuotes to prevent SOQL injection

NEW QUESTION 57

- (Exam Topic 1)

A company has a Lightning Page with many Lightning Components, some that cache reference data. It is reported that the page does not always show the most
current reference data. What can a developer use to analyze and diagnose the problem in the Lightning Page?

A. Salesforce Lightning Inspector Storage Tab

B. Salesforce Lightning Inspector Actions Tab

C. Salesforce Lightning Inspector Event Log Tab
D. Salesforce Lightning Inspector Transactions Tab

Answer: A
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NEW QUESTION 61

- (Exam Topic 1)

A developer is writing a complex application involving triggers, workflow rules, Apex classes, and processes. The developer needs to carefully consider the order
of execution when developing the application.

* 1. Before Triggers

* 2. After Triggers

* 3. Post commit logic such as sending email

* 4. DML committed to the database

* 5. Workflow rules

* 6. Roll-up summary calculations

In what order do the following operations execute?

A.1,256,4,3
B.1,5,6,2,4,3
C.1,245,6,3
D.1,6,524,3

Answer: A

NEW QUESTION 66

- (Exam Topic 1)

Universal Containers wants to use an external Web Service provided by a third-party vendor to validate that shipping and billing addresses are correct. The current
vendor uses basic password authentication, but Universal Containers might switch to a different vendor who uses OAuth. What would allow Universal Containers
to switch vendors without updating the code to handle authentication?

A. Custom Setting (List)
B. Custom Metadata
C. Named Credential
D. Dynamic Endpoint

Answer: C

NEW QUESTION 67
- (Exam Topic 1)
What is the transaction limit for the number of DML statements allowed?

A. 20

B. 2,000

C. 100 (synchronous), 200 (async)
D. 200 (synchronous), 100 (async)
E. 150

Answer: E

Explanation:
Includes Approval functions, rollbacks/savepoints, and System.runAs

NEW QUESTION 69

- (Exam Topic 1)

A developer is creating unit tests for code that makes SOAP web service callouts. The developer needs to insert some test data as a part of the unit tests setup.
What are three actions to enable this functionality? (Choose three.)

A. Surround the callout with TeststartTest(), Test.stopTest()

B. Surround the data insertion with Test.startTest(), Test.stopTest()
C. Implement the WebServiceMock interface

D. Update code to call Test.setMock()

E. Implement the HttpCalloutMock interface

Answer: ACD

NEW QUESTION 73

- (Exam Topic 1)

Global with sharing class MyRemoter { public String accountName { get; set; } public static Account account

{ get; set; } public AccountRemoter(} {} @RemoteAction global static Account getAccount (String acccuntName) { account = [SELECT Id, Name,
NumberOfEmployees FROM Account WHERE Name =

:accountName]; return account; } } Consider the Apex class above that defines a RemoteAction used on a

Visualforce search page. Which code snippet will assert that the remote action returned the correct Account?

A. MyRemoter remote = new MyRemoter(); Account a = remote.getAccount ({ TestAccount’); System.assertEquals, ‘TestAcccunt', a.Name -;
B. Account a = MyRemoter.getAccount (‘TestAccount’): System.assertEquals{ ‘TestAccount’, a.Name };

C. MyRemoter remote = new MyRemoter('TestAccount};Account a = remote.getAccount {);System.assertEquals(, “TestAccount', a.Name -;
D. Account a = controller.getAccount('TestAccount’); System.assertEquals(, ‘TestAccount’, a.Name } ;

Answer: B

NEW QUESTION 75
- (Exam Topic 1)
A company processes Orders within their Salesforce instance. When an Order's status changes to 'Paid’ it must notify the company's order management system
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(OMS). The OMS exposes SOAP web service endpoints to listen for when to retrieve the data from Salesforce. What is the optimal method to implement this?

A. Create an Apex trigger and make a callout to the OMS from the trigger.

B. Generate the Partner WSDL and use it to make a callout to the OMS.

C. Create an Outbound Message that contains the session ID and send it to the OMS.
D. Generate the Enterprise WSDL and use it to make a callout to the OMS.

Answer: D

NEW QUESTION 79
- (Exam Topic 1)
What is the most efficient way in Visualforce to show information based on data filters defined by an end-user for a large volume of data?

A. Use the rendered condition in Visualforce to limit data based on data filters

B. Use filter conditions in a SOQL query to limit data based on data filters

C. Use an Apex controller to refine raw data based on data filters and store the result in a transient variable
D. Use an Apex controller to refine raw data based on data filters and store the result in a static variable

Answer: B

NEW QUESTION 82
- (Exam Topic 1)

A company has the Lightning Component above that allows users to dick a button to save their changes and redirects them to a different page. Currently, when the
user hits the Save button the records are getting saved, but they are not redirected.
Which three techniques can a developer use to debug the JavaScript? Choose 3 answers

A. Use Developer Console to view checkpoints.

B. Use Developer Console to view the debug log.

C. Use consde.log() messages in the JavaScript.

D. Enable Debug Mode for Lightning components for the user.
E. Use the browser's dev tools to debug the JavaScript.

Answer: CDE

NEW QUESTION 86

- (Exam Topic 1)

This sales team needs a custom Visualforce page to enter sales orders. When a product is selected on the Visualforce page, a web service is invoked to
determine if the product is in stock, and the result is displayed on the page.

How can a developer write this page to display the result of the web service and ensure governor limits for concurrent usage are not exceeded?

A. Use Continuation that is invoked when a Submit button is clicked.
B. Use visualforce Remoting to handle the web service callout.

C. Use the Salesforce Metadata API in the web service callout.

D. Use an Apex trigger with callout=true annotation.

Answer: A

NEW QUESTION 91
- (Exam Topic 1)
The progress of an apex job queued is using the System.enqueueJob method and needs to be monitored. Which options are valid? (Choose two.)

A. Use the Apex Jobs page in setup

B. Query the Queueable Apex record

C. Query the AsyncApexJob record

D. Use the Scheduled Jobs page in setup

Answer: AC

NEW QUESTION 96

- (Exam Topic 1)

An org has a requirement that an Account must always have one and only one Contact listed as Primary. So selecting one Contact will de-select any others. The
client wants a checkbox on the Contact called 'Is Primary' to control this feature. The client also wants to ensure that the last name of every Contact is stored
entirely in uppercase characters. What is the optimal way to implement these requirements?

A. write a single trigger on Contact for both after update and before update and callout to helper classes to handle each set of logic.

B. Write an after update trigger on Contact for the Is Primary logic and a separate before update trigger onContact for the last name logic.
C. write an after update trigger on Account for the Is Primary logic and a before update trigger on Contact for the last name logic.

D. write a Validation Rule on the Contact for the Is Primary logic and a before update trigger on Contact for the last name logic.

Answer: A
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NEW QUESTION 98

- (Exam Topic 1)

A developer Is asked to develop a new AppExthange application. A feature of the program creates Survey records when a Case reaches a certain stage and Is of
a certain Record Type. This feature needs to be configurable, as different Salesforce instances require Surveys at different times. Additionally, the

out-of-the-box AppExchange app needs to come with a set of best practice settings that apply to most

customers.

What should the developer use to store and package the custom configuration settings for the app?

A. Custom Settings
B. Custom Metadata
C. Custom Objects
D. Process Builder

Answer: B

NEW QUESTION 100
- (Exam Topic 1)
What level can a hierarchy custom setting be defined for? (Choose three.)

A. Users

B. Groups

C. Profiles

D. Roles

E. Organization

Answer: ACE

NEW QUESTION 104
- (Exam Topic 1)
Which of the following exceptions cannot be caught and will force an error? (Choose three.)

A. LimitException

B. AssertException

C. SObjectExceptions
D. DMLException

E. License exceptions
F. ListException

Answer: ABE

Explanation:
SObjectException occurs when accessing a field not queried, or you try to change a field during the wrong dml statement (i.e. an edit-only field being set on insert)
Custom exceptions must extend the "Exception" class

NEW QUESTION 109
- (Exam Topic 1)
If a developer wanted to display error messages with the standard Salesforce Ul styling, what would they use?

A. <apex:pageMessages>
B. <apex:message>

C. <apex:outputText>

D. <apex:error>

Answer: A

NEW QUESTION 110
- (Exam Topic 1)
The Metadata API .

A. Is based on REST principles and is optimized for loading or deleting large sets of dat

B. You can use it to query, queryAll, insert, update, upsert, or delete many records asynchronously by submitting batches

C. Provides a powerful, convenient, and simple REST-based web services interface for interacting with Salesforc

D. Its advantages include ease of integration and development, and it's an excellent choice of technology for use with mobile applications and web projects

E. Is used to create, retrieve, update or delete records, such as accounts, leads, and custom objects, and allows you to maintain passwords, perform searches,
and much more

F. Is used to retrieve, deploy, create, update, or delete customizations for your or

G. The most common use is to migrate changes from a sandbox or testing org to your production environment

Answer: D

NEW QUESTION 114

- (Exam Topic 1)

A customer has a single Visualforce page that allows each user to input up to 1500 sales forecasts and instantly view pivoted forecast calculations. Users are
complaining that the page is loading slowly, and they are seeing error messages regarding heap and view state limits.

What are three recommendations to optimize page performance? (Choose three.)

A. Segregate calculation functionality from input functionality
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B. Specify the list of sales forecasts as transient

C. Implement pagination and reduce records per page

D. Create formula fields to compute pivoted forecast calculations
E. Use JavaScript Remoting instead of controller actions

Answer: ACE

NEW QUESTION 115
- (Exam Topic 1)
Which two objects can be inserted in the same transaction? (Choose two.)

A. Opportunity and User

B. Account and AccountShare
C. Case and CaseComment
D. Account and Group

Answer: BC

NEW QUESTION 119

- (Exam Topic 1)

A developer created and tested a Visualforce page in their developer sandbox, but now receives reports that users are encountering ViewState errors when using
it in Production. What should the developer ensure to correct these errors?

A. Ensure queries do not exceed governor limits.

B. Ensure properties are marked as Transient.

C. Ensure properties are marked as private.

D. Ensure profiles have access to the Visualforce page.

Answer: B

NEW QUESTION 122
- (Exam Topic 1)
What tool in the Developer Console contains information on SOQL query Cardinality?

A. Checkpoints tab
B. Query Editor

C. Query Plan Tool
D. Log Inspector
E. View State Tab

Answer: D

NEW QUESTION 126
- (Exam Topic 1)
What is the transaction limit on the number of "sendEmail" method calls?

A. 20

B. 10

C.50

D. 100

E. There is no limit

Answer: B
Explanation:

The reserveEmailCapacity methods let you declare how many emails you want to send prior to actually sending, allowing you to handle limit errors prematurely

NEW QUESTION 129

- (Exam Topic 1)

A developer receives the exception 'SOQL query not selective enough’ when performing a query on an object with a large amount of data. Which step should be
taken to resolve the issue?

A. Use an ID in the WHERE clause of the SOQL query.

B. Perform the SOQL query as part of a FOR loop.

C. Perform the SOQL query via a call to the REST API.

D. Move the SOQL query to within an asynchronous process.

Answer: A

NEW QUESTION 130

- (Exam Topic 1)

A company has a custom component that allows users to search for records of a certain object type by invoking an Apex Controller that returns a list of results
based on the user's input, when the search Is completed, a searchComplete event is fired, with the results put in a results attribute of the event. The component is
designed to be used within other components and may appear on a single page more than once.

What is the optimal code that should be added to fire the event when the search has completed?

A)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy Platform-Developer-Il dumps
@ 2 Posse’os LJ https://www.2passeasy.com/dumps/Platform-Developer-Il/ (401 New Questions)

B)

C)

D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 134

- (Exam Topic 1)

Universal Containers stores user preferences in a Hierarchy Custom Setting, User_prefs_c, with a Checkbox field, show_Help_c, Company-Level defaults are
stored at the organizational level, but may be overridden at the user level, If a user has not overridden preferences, then the defaults should be used.

How should the Show_Help_c preference be retrieved for the current user?

A. Boolean show = User_Prefs_c, getinstance( ), Show_Help _c;

B. Boolean show = User_Prefs_c, getValues (). Show _Help_c;

C. Boolean show = User_Prefs_c, getvaluesUserlnfo.getUserid() ).Show_Help_c;
D. Boolean show = User prefs_c, Show_Help_c;

Answer: C

NEW QUESTION 135
- (Exam Topic 1)
What is the optimal syntax for adding a link to a case in a Visualforce page? (Choose two.)

A. <apex:outputLink value="{$URLFOR($Action.Case.Open, case)}" target="blank"> {lease.Name}</apex:outputLink>

B. <apex:outputLink value="/{!case.ld}" target="blank"> {lease.Name}</ apex:outputLink>

C. <apex:outputLink value="{IURLFOR($Action.Case.View,case.ld)}" target="blank">(LIE{!case.Name}</apex:outputLink>
D. <apex:outputLink value="lviewCase(case.ld)}" target="_blank">{lease.Name} </apex:outputLink>

Answer: BC

NEW QUESTION 138

- (Exam Topic 1)

Of Universal Containers uses Big Objects to store almost a billion customer transactions called Customer_Transaction__b. These are the fields on
Customer_Transaction__b: Account__c Program__ ¢ Points_Earned__ ¢ Location__c Transaction_Date ¢ The following fields have been identified as Index
Fields for the Customer_Transaction b object: Account__c, Program__ ¢, and Transaction_Date__c. Which SOQL query is valid on the Customer_Transaction__b
Big Object?

A. SELECT Account__c, Program__ ¢, Transaction_Date ¢ FROM Customer_Transaction__b WHERE Account__c = ‘001R000000302D3' AND Program__ ¢
='Shoppers' AND Transaction_Date ¢=2019-05-31T00:00Z

B. SELECT Account__c, Program__c, Transaction_Date ¢ FROM Customer_Transaction__b WHEREAccount__c¢ ='001R000000302D3"' AND Program__ ¢ LIKE
‘Shop%’ AND Transaction_Date ¢=2019-05-31T00:00Z

C. SELECT Account__c, Program__ ¢, Transaction_Date ¢ FROM Customer_Transaction__b WHERE Account__c ='001R000000302D3' AND Program__c
EXCLUDES (‘Shoppers’, ‘Womens’) ANDTransaction_Date  ¢=2019-05-31T00:00Z

D. SELECT Account__c, Program__c, Transaction_Date__c¢ FROM Customer_Transaction__b WHERE Account__c = ‘001R000000302D3' AND Program__c
INCLUDES (‘Shoppers’, ‘Womens’) AND Transaction_Date_ ¢=2019-05-31T00:00Z

Answer: A

NEW QUESTION 143
- (Exam Topic 1)
Refer to re code segment above.
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When following best practices for writing Apex taggers, which two lots are wrong or cause for concern? Choose 2 answers

A. Line 6

B. Line 11
C. Line 16
D. Line 20

Answer: AD

NEW QUESTION 148

- (Exam Topic 1)

An environment has two Apex Triggers: an after-update trigger on Account and an after-update trigger on Contact. The Account after-update trigger fires whenever
an Account's address is updated, and it updates every associated Contact with that address. The Contact after-update trigger fires on every edit, and it updates
every Campaign Member record related to the Contact with the Contact's state.

Consider the following: A mass update of 200 Account records' addresses, where each Account has 50 Contacts. Each Contact has 1 Campaignh Member. This
means there are 10,000 Contact records across the Accounts and 10,000 Campaign Member records across the contacts.

What will happen when the mass update occurs?

A. The mass update will fail, since the two triggers fire in the same context, thus exceeding the number of records processed by DML statements.

B. There will be no error, since each trigger fires within its own context and each trigger does not exceed the limit of the number of records processed by DML|
statements.

C. There will be no error, since the limit on the number of records processed by DML statements is 50,000.

D. The mass update of Account address will succeed, but the Contact address updates will fail due to exceeding number of records processed by DML
statements.

Answer: B

NEW QUESTION 153

- (Exam Topic 1)

A developer has created a Team Member sObject that has a Master-Detail relationship to a Project sObject and a Lookup relationship to the User sObject. The
developer must ensure that a User listed on a Team Member record has Read-Write access to the parent Project record.

How can the developer accomplish this if the Project sObject has a Private sharing model and thousands of Project records?

A. Create a Controller that uses the Without Sharing keyword

B. Create a Criteria-Based Sharing Rule on the Project sObject

C. Create a Team Member Trigger that inserts Project_Share records

D. Create a Project Sharing Rule that shares to the Team Member Group

Answer: C

NEW QUESTION 157
- (Exam Topic 1)
A Visualforce page loads slowly due to the large amount of data it displays. Which strategy can a developer use to improve the performance?

A. use lazy loading to load the data on demand, instead of in the controller's constructor.
B. use an <apex:actionPoller> in the page to load all of the data asynchronously.

C. use Javascript to move data processing to the browser instead of the controller.

D. Use the transient keyword for the List variables used in the custom controller.

Answer: A
NEW QUESTION 161
- (Exam Topic 1)

What is the transaction limit on the max Salesforce CPU time?

A. 100 seconds
B. 60 seconds
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C. 100 seconds (synchronous); 200 seconds (async)
D. 10 seconds (synchronous); 60 seconds (async)
E. There is no limit

Answer: D

NEW QUESTION 166

- (Exam Topic 1)

A user receives the generic "An internal server error has occurred” while interacting with a custom Lightning Component. What should the developer do to ensure
a more meaningful message?

A. Use an AuraHandledException in a try/catch block.
B. Use ProcessBuilder to catch the error.

C. Add an onerror event handler to the tag.

D. Add an error-view component to the markup.

Answer: A

NEW QUESTION 170

- (Exam Topic 1)

A developer writes the following Apex trigger so that when a Case is closed, a single Survey record is created for that Case. The issue is that multiple Survey_c
records are being created per Case.

trigger CaseTrigger on Case (after insert, after update){ List<Survey c>
)

createSurveys = new List<Survey c¢>(); for (Case ¢ : trigger.new

| .-I ol [ 4 :. e ] :ﬂ-n ~ TT 5 \:'\.rn { F Fy .-" I
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-:la.\.i o b -\_\.-"E: e ..Ci..&e:l } I -_,r _\l—CU\-\.I. I\IC}':ll:l‘i:l'w.l{I]EI! HI—J-I‘- 1| I-: 'lu.ttle L= =
:.Iu}]; } insert createSurveys; |

What could be the cause of this issue?

A. A user is creating the record as Closed

B. A workflow rule is firing with a Create Task action
C. A workflow rule is firing with a Field Update action
D. A user is editing the record multiple times

Answer: D

NEW QUESTION 174
- (Exam Topic 1)
What is a consideration when using bind variables with dynamic SOQL? (Choose two.)

A. Dynamic SOQL cannot reference fields on bind variables
B. Dynamic SOQL cannot use bind variables

C. Bind variables must be public or global

D. Bind variables must be in local scope

Answer: AD

NEW QUESTION 178

- (Exam Topic 1)

Universal Containers wants to use a Customer Community with Customer Community Plus licenses so their customers can track how many of containers they are
renting and when they are due back. Many of their customers are global companies with complex Account hierarchies, representing various departments within the
same organization. One of the requirements is that certain community users within the same Account hierarchy be able to see several departments' containers,
based on a junction object that relates the Contact to the various Account records that represent the departments. Which solution solves these requirements?

A. A Custom Report Type and a report Lightning Component on the Community Home Page

B. An Apex Trigger that creates Apex Managed Sharing records based on the junction object's relationships
C. A Custom List View on the junction object with filters that will show the proper records based on owner
D. A Visualforce page that uses a Custom Controller that specifies without sharing to expose the records

Answer: A

NEW QUESTION 180

- (Exam Topic 1)

A company has reference data stored in multiple Custom Metadata records that represent default information for certain.

When a Contact is inserted, the default information should be set on the Contact from the Custom Metadata records .. Address information.
What is the optimal way to automate this?

A. Process Builder
B. Apex Trigger

C. Workflow Rule
D. Visual Flow

Answer: B
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NEW QUESTION 182

- (Exam Topic 1)

A company notices that their unit tests in a test class with many methods to create many records for prerequisite reference data are slow. What can a developer to
do address the issue?

A. Move the prerequisite reference data setup to a TestDataFactory and call that from each test method.

B. Move the prerequisite reference data setup to the constructor for the test class.

C. Move the prerequisite reference data setup to a static method in the test class and call that from each test method.
D. Move the prerequisite reference data setup to a @testSetup method in the test class.

Answer: A

NEW QUESTION 187

- (Exam Topic 1)

A developer must create a custom pagination solution. While users navigate through pages, if the data is changed from elsewhere, users should still see the
cached results first accessed.

How can the developer meet these requirements?

A. Use @Cache annotation

B. Use a StandardSetController

C. Use OFFSET in SOQL queries

D. Use OFFSET WITH CACHE in SOQL queries

Answer: B

NEW QUESTION 192
- (Exam Topic 1)
Which statement is true regarding both Flow and Lightning Process? (Choose two.)

A. Can use Apex methods with the @InvocableMethod annotation
B. Are both server-side considerations in the Order of Execution
C. Can use Apex that implements the Process.Plugin interface

D. Are able to be embedded directly into Visualforce pages

Answer: AC

NEW QUESTION 193
- (Exam Topic 1)
A developer is trying to access org data from within a test class. Which sObject type requires the test class to have the (seeAllData=true) annotation?

A. RecordType
B. Profile

C. User

D. Report

Answer: D

NEW QUESTION 196
- (Exam Topic 1)
Which interface needs to be implemented by a Lightning Component so that it may be displayed in modal dialog by clicking a button on a Lightning Record page?

A. Force: lightningQuickAction
B. Lightning:editAction

C. Fightning:quickAction

D. Force:lightningEditAction

Answer: A

NEW QUESTION 199

- (Exam Topic 2)

A company has a custom object Sales_Help_Request c that has a Lookup relationship to Opportunity. The Sales_Help_Request ¢ has a number field,
Number_of Hours___c, that represents the amount of time spent on the Sales_Help_Request __ c.

A developer is tasked with creating a field, Total_Hours c, on Opportunity that should be the sum of all of the Number_of _Hours___c values for the
Sales_Help_Request___ c records related to that Opportunity.

What should the developer use to implement this?

A. A workflow rule on the Sales_Help_Request ¢ object
B. A roll-up summary field on the Opportunity object

C. A trigger on the Opportunity object

D. A trigger on Sales_Help Request ¢

Answer: D

NEW QUESTION 202
- (Exam Topic 2)
A developer is developing a reuseable Aura Component that will reside on an sObject Lightning Page with the following HTML snippet:
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<aura:component implements="force:hasRecordld,flexipage:availableForAllPageTypesM>
<div>Hello!</div>
</aura:component>

How can the component's Controller get the context of the Lightning Page that the sObject is on without requiring additional test coverage?

A. Set the sObject type as a component attribute.

B. Add force:hasSobjectName to the implements.

C. Use the getSObjectTypeQ method in an Apex class.

D. Create a design attribute and configure via App builder.

Answer: B

NEW QUESTION 203
- (Exam Topic 3)
Which tag should a developer use to display different text while an <apex:commandButton> is executing versus not executing?

A. <apexactionPoller>

B. <ApexactionSupper>
C. <ApexactionStatus>
D. <ApexpageMessages>

Answer: C

NEW QUESTION 208

- (Exam Topic 3)

Universal Containers requested the addition of a third-party Map widget to an existing Lightning web component.
Which two actions should the developer take to implement this requirement? Choose 2 answers

A. Import the third-party JavaScript module directly Into the component.

B. Use a content distribution network and Include <script> <script> tags In the component.

C. Import loadscript from lightning platformResourcelLoader.

D. Upload the third-party JavaScript library as a static resource that Imports Into the component.

Answer: CD

NEW QUESTION 213
- (Exam Topic 3)

A developer is building a Lightning web component that displays quantity, unit price, and the total for an order line item. The total is calculated dynamically as the

quantity multiplied by the unit price.
JavaScript:

What must be added to display the total?

A. Add get total() { return quantity * unitPrice;} to the JavaScript and Total: {total} in the template.

B. Add calculate Total() {return quantity * unitPrice;} to the javaScript and Total : {calculate Total()} in the template.
C. Add Total: {quantity * UnitPrice} in the template.

D. Add Total; {multiple quantit,y unitprice)} in the template.

Answer: B

NEW QUESTION 215
- (Exam Topic 3)

A business currently has a process to manually upload orders from its external Order Management System (OMS) into Salesforce.
This is a labor intensive process since accounts must be exported out of Salesforce to get the IDs. The upload file must be updated with the correct account IDs to

relate the orders to the corresponding accounts.
Which two recommendations should make this process more efficient? Choose 2 answers
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A. Ensure the data in the file is sorted by the order ID.

B. Use the upsert wizard in the Data Loader to import the data.

C. Identify unique fields on Order and Account and set them as External IDs.
D. Use the Insert wizard In the Data Loader to Import the data.

Answer: BC

NEW QUESTION 219

- (Exam Topic 3)

Customer billing data must be added and updated into Salesforce from a remote system on a weekly basis. Additionally, customer activity information must be
extracted from Salesforce and put it into an on-premises data warehouse on a weekly basis.

Which approach should be used to import data into Salesforce and export data out of Salesforce, taking into consideration that these imports and exports can
interfere with end-user operations during business hours and involve large amounts of data?

A. Call-in directly from each remote system to Salesforce APIs to push and pull the data
B. Salesforce Connect to push data to and pull data from the remote systems

C. Batch Apex, where Salesforce pushes data to and pulls data from the remote systems
D. Replication via third-party ETL to push data into Salesforce and pull data out in batches

Answer: B

NEW QUESTION 221
- (Exam Topic 3)
Which statement is considered a best practice for writing bulk safe Apex Triggers?

A. Perform all DML operations from within a Future Method.

B. Instead of DML statements, use the Database methods with allOrNone set to False.
C. Add records to collections and perform DML operations against these collections.
D. Add LIMIT 50000 to every SOQL statement

Answer: C

NEW QUESTION 223
- (Exam Topic 3)

The test method above tests an Apex trigger that the developer knows will make a lot of queries when a lot of Account are simultaneously updated to be customer.
The test method fails at the Line 20 because of too many SOQL queries What is the correct way to fix this?

The test method above tests an Apex trigger that the developer knows will make a lot of queries when a lot of Accounts are simultaneously updated to be
customers.
The test method fails at the Line 20 because of too many SOQL queries. What is the correct way to fix this?

A. Add TesLstartTest() before and Test.stop Test() after both Line 7 of the code and Line 20 of the code.

B. Change the DataFactory class to create fewer Accounts so that the number of queries in the trigger is reduced.
C. Add TeststartTest() before Line 18 of the code and add Test.stopTest() after line 18 of the code.

D. Replace most of the Apex Trigger with Process Builder processes to reduce the number of queries in the trigger.

Answer: C
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NEW QUESTION 228

- (Exam Topic 3)

A developer created a Lightning web component that uses a Lightning-record-edit-form to collect information about Leads. Users complain that they only see one
error message at a time when they save a Lead record.

Which best practice should the developer use to perform the validations, and allow more than one error message to be displayed simultaneously?

A. Client-side validation

B. Process Builder

C. Apex REST

D. Custom validation rules

Answer: A

NEW QUESTION 231

- (Exam Topic 3)

A developer is creating a page in App Builder that will be used in the Salesforce mobile app.

Which two practices should the developer follow to ensure the page operates with optimal performance? Choose 2 answers

A. Limit five visible components on the page.

B. Limit 25 fields on the record detail page.

C. Limit the number of Tabs and Accordion components.

D. Analyze the page with Performance Analysis for App Builder.

Answer: BD

NEW QUESTION 233

- (Exam Topic 3)

Universal Containers allows customers to log into a Salesforce Community and update their orders via a custom Visualforce page. Universal Containers' sales
representatives can edit the orders on the same Visualforce page.

What should a developer use in an Apex test class to test that record sharing is enforced on the Visualforce page?

A. Use System.profllels() to test as an administrator and a community user,
B. Use System.profilels() to test as a sales rep and a community user.

C. Use System.runAs() to test as a sales rep and a community user.

D. Use System.runAs() to test as an administrator and a community user.

Answer: C

NEW QUESTION 234

- (Exam Topic 3)

A software company uses a custom object Defect_c, to track defects in their software, Defect__c has organisation-wide defaults set to private Each Dafect ¢ has
a related list of Reviewer_c records, each with a lookup field to User that is used to indicate that the User will review the Defect_c.

What should be used to give the User on the Reviewer_c record read only access to the Defect_c record on the Reviewer_c record?

A. View All on Defect_c

B. Apex managed sharing
C. lightning web component
D. Criteria based sharing

Answer: A

NEW QUESTION 236

- (Exam Topic 3)

Universal Containers needs to integrate with an external system. The process is initiated when a record is created in Salesforce. The remote system does not
require Salesforce to wait for a response before continuing.

What should the developer use to accomplish this?

A. Trigger with HTTP callout
B. PushTopic event

C. Outbound message

D. Platform event

Answer: C

NEW QUESTION 238

- (Exam Topic 3)

A company accepts orders for customers in their enterprise resource planning (ERP) crder__c records with a lookup field to Account. The Account object has an
External ID field, ERP_Customer_ID__c.

What should the integration use to create new Order___c records that will automatically be related to the correct Account?

A. Upsert on the Account and specify the ERP_Customer_ID__c.

B. Merge on the Order__c object and specify the ERP_Customer_ID__ c.

C. Insert on the Order__c object followed by an update on the Order__c object.
D. Upsert on the Order__c object and specify the ERP_Customer_ID__c.

Answer: C
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NEW QUESTION 241
- (Exam Topic 3)
Assuming the CreateOneAccount class creates one account and implements the Queuetable interface, which syntax tests the Apex code?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 243

- (Exam Topic 3)

A developer has a Batch Apex process, Batch_Account_Sales, that updates the sales amount for 10,000 Accounts on a nightly basis. The Batch Apex works as
designed In the sandbox. However, the developer cannot get code coverage on the Batch Apex class.

The test class is below:

BTeTes: private Batih Account Update Test
11aTest xTAtAC 3d UnitTest
AcCount a = new Account (Name='vest',Type="Customer’,Jales Rniunt o=
inTers a
=ar "'_; 4.""___3."-5 ba = e B:t_b_i__.m.‘-;'_qii':: |
1P Jobid = Jatabase.executebatch(bas)
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What is causing the code coverage problem?

A. The batch process will not recognize new accounts created in the same session
B. The account creation already sets the sates amount to 0.

C. The executeBatch must fail within tes

D. startTest () and —tes

E. stopTest().

F. The batch needs more than one account record created.

Answer: C

NEW QUESTION 247

- (Exam Topic 3)

As part of their quoting and ordering process, a company needs to send PDFs to their document storage system’s REST endpoint that supports OAuth 2.0. Each
Salesforce user must be individually authenticated with the document storage system to send the PDF.

What is the optimal way for a developer to implement the authentication to the REST endpoint?

A. Named Credential with an OAuth Authentication Provider
B. Hierarchy Custom Setting with a password custom field

C. Named Credential with Password Authentication

D. Hierarchy Custom Setting with an OAuth token custom field

Answer: A

NEW QUESTION 249

- (Exam Topic 3)

A developer is tasked with creating a Lightning web component that is responsive on various devices. which two components should help accomplish this goal?
Choose 2 answers

A. lightning-input-location
B. lightning-navigation

C. lightning-layout

D. lightning-layout-item

Answer: CD

NEW QUESTION 251

- (Exam Topic 3)

A developer is experiencing issues with a Lightning web component. The component must surface information about Opportunity owned by the currently logged-in
user.

When the component is rendered, the following message is displayed: “Error retrieving data” Which modification should be implemented to the Apex class to
overcome the issue?

A. Edit the code to use the without sharing keyword in the Apex class.
B. Use the Cacheable=True attribute in the Apex method.

C. Ensure the OWD for the Opportunity object is public.

D. Use the Continuation=true attribute in the Apex method.

Answer: B

NEW QUESTION 253

- (Exam Topic 3)

A developer is asked to find a way to store secret data with an ability to specify which profiles and users can access which secrets.
What should be used to store this data?

A. Static resources

B. Custom settings

C. Custom metadata

D. System.Cookie class

Answer: B

NEW QUESTION 254

- (Exam Topic 3)

There is an Apex controller and a Visualforce page in an org that displays records with a custom filter consisting of a combination of picklist values selected by the
user.

The page takes too long to display results for some of the input combinations, while for other input choices it throws the exception, *Maximum view state size limit
exceeded.

What step should the developer take to resolve this issue?

A. Split the layout to filter records in one Visualforce page and display the list of records in a second page using the same Apex Controller.
B. Adjust any code that filters by picklist values since they are not indexed.

C. Use a StandardSetController or SOQL LIMIT in the Apex controller to limit the number of records displayed at a time.

D. Remove instances of the transient keyword from the Apex controller to avoid the view state error.

Answer: C
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NEW QUESTION 257

- (Exam Topic 3)

A developer created a Lightning web component that allows users to input a text value that is used to search for Accounts by calling an Apex method. The Apex
method returns a list of AccountWrappers and is called imperatively from a JavaScript event handler.

Which two changes should the developer make so the Apex method functions correctly?
Choose 2 answers

A. Add @AuraEnafcle3 to line 09.

B. Add @AuraEnabled to line 03.

C. Add @AuraEnabled to lines 11 and 12.
D. Add @AuraEnat:ei to line 01.

Answer: BC

NEW QUESTION 259

- (Exam Topic 3)

A developer 15 tasked with creating an application-centric feature on which end-users can access and update information. This feature must be available in
lightning Experience while working seamlessly in multiple device form factors, such as desktops, phones, and tablets. Additionally, the feature must support
Addressable URL Tabs and interact with the Salesforce Console APIs.

What arm two approaches a developer can take to build the application and support the business requirements? Choose 2 answers

A. Create the application using Aura Components wrapped in Lightning Web Components.
B. Create the application using Lightning web Components wrapped in Aura Components.
C. Create application using Aura Components.

D. Create the application using Lightning Experience Builder.

Answer: BC

NEW QUESTION 262

- (Exam Topic 3)

A developer created an Opportunity trigger that updates the account rating when an associated opportunity is considered high value. Current criteria for an
opportunity to be considered high value is an amount greater than or equal to SI1,000,000. However, this criteria value can change over time.

There is a new requirement to also display high value opportunities In a Lightning web component.

Which two actions should the developer take to prevent the business logic that obtains the high value opportunities from being repeated in more than one place?
Choose 2 answers

A. Use custom metadata to hold the high value amount.

B. Call the trigger from the Lightning web component.

C. Leave the business logic code Inside the trigger for efficiency.
D. Create a helper class that fetches the high value opportunities.
Answer: AD

NEW QUESTION 267

- (Exam Topic 3)

Which method can be called to return this fake response in the test methods?

A. TestsetMock
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B. TestcreateStub
C. testSetup
D. Test.setTestData

Answer: A

NEW QUESTION 269

- (Exam Topic 3)

A company uses Salesforce to sell products to customers. They also have an external product information management (PIM) system that is the system of record
for products.

A developer received these requirements:

* Whenever a product is created or updated in the PIM, a product must be created or updated as a Product2 record in Salesforce and a PricebookEntry record
must be created or updated automatically by Salesforce.

» The PricebookEntry should be created In a Pricebook2 that is specified In a custom setting. What should the developer use to satisfy these requirements?

A. Apex REST

B. Event Monitoring
C. Invocable Action
D. SObJect Tree

Answer: A

NEW QUESTION 274

- (Exam Topic 3)

A developer is creating a Lightning web component that can be added to a Lightning App Page and displayed when the page Is rendered in desktop and mobile
phone format. To ensure a great mobile experience, the developer chooses to use the SLDS grid utility.

Which two Lighting web components should the developer implement to ensure the application Is mobile-ready? Choose 2 answers

A. <lightning-layou></lightning-layout>

B. <lightning-tree-grid></lightning-tree-grid>

C. <lightning-layout-item></lightning-layout-item>
D. <lightning-tree></lightning-tree>

Answer: AC

NEW QUESTION 279

- (Exam Topic 3)

A developer migrated functionality from JavaScript demoting to a Lightning web component and wants to use the existing getOpportunities() method to provide
data.

Which modification to the method is necessary?

A. A The method must be decorated with ©AuraEnabled.

B. The method must return a JISON Object.

C. The method must be decorated with (cacheable=true).

D. The method must return a String of a serialized JSON Array.

Answer: A

NEW QUESTION 280

- (Exam Topic 3)

As part of point-to-point integration, a developer must call an external web service which, due to high demand, takes a long time to provide a response. As part of
the request, the developer must collect key inputs from the end user before making the callout.

Which two elements should the developer use to implement these business requirements? Choose 2 answers

A. Apex method that returns a Continuation object
B. Screen now

C. Process Builder

D. Lightning web component

Answer: AD

NEW QUESTION 281
- (Exam Topic 3)
A developer receives an error when trying to call a global server-side method using the @remoteAction decorator. How can the developer resolve the error?

A. Add static to the server-side method signature.

B. Decorate the server-side method with (static=true).
C. Change the function signature to be private static.
D. Decorate the server-side method with (static=false)

Answer: A

NEW QUESTION 282

- (Exam Topic 3)

Users upload .csv files in an external system to create account and contact records in Salesforce. Up to 200 records can be created at a time. The users need to
wait for a response from Salesforce in the external system, but the data does not need to synchronize between the two systems.

Based on these requirements, which method should a developer use to create the records in Salesforce?
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A. REST API request using composite/vbatch/
B. REST API request using composite/tree/
C. Apex web services

D. Bulk API 2.0

Answer: D

NEW QUESTION 286

- (Exam Topic 3)

Universal Containers wants to use a Customer Community with Customer Community Plus licenses to allow their customers access to track how many containers
they have rented and when they are due back. Universal Containers uses a Private sharing model for External users.

Many of their customers are multi-national corporations with complex Account hierarchies. Each account on the hierarchy represents a department within the same
business.

One of the requirements is to allow certain community users within the same Account hierarchy to see several departments' containers, based on a custom
junction object that relates the Contact to the various Account records that represent the departments.

Which solution solves these requirements?

A. Lightning web component on the Community Home Page that uses Lightning Data Services.

B. A custom list view on the junction object with filters that will show the proper records based on owner

C. An Apex trigger that creates Apex managed sharing records based on the junction object's relationships
D. A Visualforce page that uses a custom controller that specifies wither sharing to expose the records

Answer: C
NEW QUESTION 287

- (Exam Topic 3)
Exhibit.

A developer created a JavaScript function as a part of a Lightning web component (LWC) that surfaces information... about leads by imperatively calling
getFetchLeadList when certain criteria are met.

What are these changes the developer should implement in the Apex class above to ensure the LWC can displ... data efficiently while preserving security?
Choose 3 answers

A. Annotate the Apex method with gAuraEnabled

B. Annotate the Apex method with 8AuraEnabled (Cacheable-true).

C. Use the WITH SECURITY_ENFORCED clause within the SOQL query.
D. Implement the with sharing keyword in the class declaration.

E. Implement the without sharing keyword in the class declaration.

Answer: BCD

NEW QUESTION 289
- (Exam Topic 3)
A developer created the following test method:

The developer org has five accounts where the name starts with Test". The developer executes this test in the Developer Console.
After the test code runs, which statement is true?

A. The test will fail.

B. There will be no accounts where the name starts with "Test".
C. There will be five accounts where the name starts with Test"
D. There will be six accounts where the name starts with Test".

Answer: C

NEW QUESTION 292
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- (Exam Topic 3)

When calling a RESTful web service, the developer must implement two-way SSL authentication to enhance security. The Salesforce admin has generated a self-
sign certificate within Salesforce with a uniqgue name of "ERPSecCertificate".

Consider the following code snippet:

Which method must the developer implement in order to sign the HTTP request with the certificate?

A. req.setHeader('certificate’, 'ERPSecCertificate");

B. req.setSecure('ERPSecCertificare)’;

C. reg.setClientCertificateName('ERPSecCertificate’);
D. req.setSecureCertificate( 'ERPSecCertificate’);

Answer: C

NEW QUESTION 295

- (Exam Topic 3)

A developer created a class that implement he Queueable interface, as follows:

As part of the deployment process, the developer is asked to create a corresponding test class. Which two actions should the developer take to successfully
execute the test class?

Choose 2 answers

A. Ensure the running user of the test class has, at least, the View All permission on the Order object
B. Enclose System.enqueueJob (new orderQueueable Job ( }) within Tes

C. starttest and Test, stoptest ()

D. Implement seeAllData-true to ensure the Queueable )ob is able to run in bulk mode.

E. Implement Test.isRunningtest () to prevent chaining jobs during test execution.

Answer: CD

NEW QUESTION 296

- (Exam Topic 3)

A developer has a Visual force page that automatically assign ownership of an Account to a queue save. The page appears to correctly assign ownership, but an
assertion validating the correct ownership fails.

What can cause this problem?

A. The test class does not use the Bulk API for loading test data.

B. The test class does not retrieve the updated value from the database.
C. The test class does not use the seeAllData=true annotation,

D. The test class does not implement the Queueabfe interface.

Answer: B

NEW QUESTION 301

- (Exam Topic 3)

A lead developer is creating tests for a Lightning web component. The component re-renders when a property called bypassSelection. changes its value.
What should the developer use to the test that the component re-renders successfully when the property changes?

A. Promis

B. resolve ()

C. dispatchEvent (new CustomEvent (* bypassSelection’))
D. Windows, Setinterval ()

E. Windows, set State ()

Answer: C

NEW QUESTION 305
- (Exam Topic 3)
After a Platform Event Is defined in a Salesforce org, events can be published via which two mechanisms? Choose 2 answers

A. Internal Apps can use Outbound Messages.

B. Internal Apps can use Process Builder.

C. External Apps require the standard Streaming API

D. External Apps use an API to publish event messages

Answer: BD

NEW QUESTION 308
- (Exam Topic 3)
Consider the following code snippet:

The Apex method is executed in an environment with a large data volume count for Accounts, and the query Is performing poorly.
Which technique should the developer Implement to ensure the query performs optimally, while preserving the entire result set?
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A. Annotate the method with the @Future annotation.

B. Create a formula field to combine the CreatedDate and RecardType value, then filter based on the formula.
C. Use the Database.queryLocator method to retrieve the accounts.

D. Break down the query into two individual queries and Join the two result sets.

Answer: D

NEW QUESTION 309
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